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all. Each question carries 1 mark.

Answer the questions in OMR answer sheet
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Who talked about identity crisis in his
theory of personality?

(A) Alfred Adler

(B) Sigmund Freud

(C) Erik Erikson

(D) None of these

'Self' refers to -
(A) those attributes of a person that

make her/him different from

others.
(B) those aspects of a person that

link her/him to a social or cultural
group or are derived from it.

(C) the totality of an individual's
conscious experiences, ideas,
thoughts and feelings with regard
to herself or himself.

(D) None of these

Which of the following is a characteristic

of personality?

(A) It has both physical and
psychological components.

(B) Its expression in terms of
behaviour is fairly unique in a given
individual.

(C) Its main features do not easily
change with time.
(D) All of the above.

The pioneer of 'trait approach of
personality’ is -

(A) Raymond Cattell

(A) I3 e Dl
(B) T JA9E @ (B) Gordon Allport
(C) a3, IBHED I (C) H.). Eysenck
(D) e Wige & (D) Sigmund Freud
5. YeoneTs 3t @ fagrea far ar - 5. Thetheory of observational leaming was
| TraEE given by -
(A o i (A) Pavlov
(B) A (B) Skinner
(C) &4 (C) Bandura _
(D) B9H | D18 F&l (D) None of these
G B3] P.T.0.
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(A) &7 Rgr

(B) fpamga srdes

(C) e sftrm fagra

(D) YA 3HEEH

10. 70T &7 U IMEAND Bell H PO WL B

& T 39S A1E B DI JID A &l 7T THI3
B & d o foe dEar 81 39 Refy §
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(A) Frwear @1 Fam
(B) UFdeH &1 Haw
(C) aw%al @ fam
(D) 3 & am

SET-C
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(4]

- (A) Contiguity

ml-;
A girl child is working very hard for her
examination. Her behaviour is an

indicator of her -
(A) Sharp cognitive abilities

(B) High achievement motivation

(C) Very Busy schedule
(D) Desire to impress her parents

"Rewards play a significant role ip
learning"”, is the main characteristic of
which of the following approaches of
leaming?

(A) Behaviouristic
(B) Cognitive

(C) Humanistic
(D) Scientific

'Negative Reinforcement’ means -
(A) Not presenting any stimulus.

(B) Presenting an unpleasant
stimulus.

(C) Punishment.
(D) Terminating an unpleasant stimulus.

Programmed Learning is based on -

(A) Field theory

(B) Operant conditioning
(C) Gestalt learning theory
(D) Classical conditioning

A mathematics teacher discusses some
problems in the classroom and then asks
the students to work out some problems

given in the book. Students are
practising the law of -

(B) Reinforcement

(C) Readiness
(D) Exercise
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11,

12.

13.

14.

XXI-1

Interest refers to -
(A) An individual's preference for

engaging in one or more specific
activities related to others.

(B) Relatively enduring characteristics
of a person that make her or him

distinct from others.

(C) An individual's underlying potential
for acquiring skills.

(D) The global capacity to understand
the world, think rationally and use
the available resources effectively

when faced with challenges.

Which of the following methods involves
seeking information from a person on a
one-to-one basis?

(A) Case study

(B) Self - report

(C) Interview

(D) Observation

Which of the following statements is

not correct about development?

(A) Development is lifelong, i.e., it
takes place across all age groups
starting from conception to old
age.

(B) Development is influenced by
historical conditions.

(C) Development is uni-dimensional.
(D) Developmentis highly plastic.

Development of symbolic thought and
establishment of object permanence is
visible in which of the following stages
of cognitive development according to
Plaget?

(A) Sensori motor

(B) Preoperational

(C) Concrete operational

(D) Formal operational

P.T.O.
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XXI-1

The stage of life that begins at the

onset of puberty, when sexual maturity
or the ability to reproduce is attaineg
is commonly known as =

(A) Childhood

(B) Infancy

(C) Adulthood

(D) Adolescence

Which of the following statements js

correct about adolescence?

(A) Imaginary audience is adolescents'
belief that others are as
preoccupied with them as they
are about themselves.

(B) Adolescents' sense of uniqueness
makes them think that no one
understands them or their
feelings.

(C) Personal fables are often part of
adolescent diaries.
(D) All of the above.

Anorexia nervosa is a -
(A) sleeping disorder
(B) mental disorder
(C) eating disorder
(D) physical disorder

The process of adjusting to bright light
after exposure to dim light is called -
(A) Regeneration

(B) Light adaptation

(C) Dark adaptation

(D) Saturation

Which of the following statements is
correct about learning?

(A) Leaming isany relatively permanent
change in behaviour.

(B) Learning always involves someé
kKind of experience.

(C) Leaming is an inferred process and

Is different from performance.
(D) All of the above.
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24.

25.
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25,

XXI-1

Which of the following is not a
characteristic feature of formal

assessment?

(A) Varies from case to case
(B) Objective

(C) Standardized

(D) Organised

The two-factor theory of intelligence

was proposed by -

(A) Howard Gardner
(B) Robert Sternberg
(C) Charles Spearman
(D) Lev Vyogotsky

Response, organization and characterization
are included in which domain of
educational objectives?

(A) Cognitive domain

(B) Affectivedomain

(C) Psychomotor domain

(D) None of these

Which of the following is not a
technique of motivation?

(A) Reward and Punishment

(B) Praise and reproof

(C) Novelty

(D) Recall

Factor influencing emotional development

in children is -

(A) Health and Physical development

(B) Family atmosphere and relationship

(C) Neighbourhood, community and
soclety

(D) All of the above

Type R-conditioning Is known as -
(A) Classical conditioning

(B) Operantconditioning

(C) Connectionism

(D) Experiential Learning

P.T.O.

e




26,

27.

28,

29.

30.

3-SR & amavasan wwafrad e-

(A) 3sragie Rgr X

(B) &% g

(C) o wissamaxor g &

(D) ¥REN & WHEaaER st Rigr<
q

ot Ff wea & -
(A) driices Wi @
(B) 3udics wfd &
(C) <ot W @
(D) 39 A o5 T

Frifsd DI ¥ @or GoHIeTdar aul i

& Y A 9y &

(i) HoHTHdar 9 §fe & 9T ORI
T gl

(ii) 8 AT 98 it =8 axan

s Fargne 9r an|

(i) HIHHD TN H 3UaR) fias &
3y grar 8 Fafe gfe wieaol 3
FRrRY ’iaw & 3wam f&ar s 21

(A) (i) 3R (ii)

(B) (i) 3R (iii)

(C) (i) 3R (iii)

(D) (i), (i) 3R (iii)

AT BT 98 TR 3N e gemghas 3R
qreifas 3id-fel & ¥R 8l & -

ag e gfes fored gf¥Ear 3= &% A

26.

27.

28.

29,

30.

xxl-'-f L
Self - actualization needs are rgls ..
to - :
(A) Theory of insightful learning
(B) Field Theory
(C) Information Processing Theory
(D) Maslow's Humanistic Theory qf
learning

Sensory memory is also known as -
(A) Immediate Memory

(B) Short-Term Memory

(C) Long - Term Memory

(D) None of these

Which of the statements are true about

creativity and intelligence?

(i) The relationship between creativity
and intelligence is positive.

(ii) Intelligence does not ensure
creativity.

(ili) Creativity tests involve divergent
thinking whereas intelligence tests
involve convergent thinking.

(A) (i) and (ii)

(B) (i) and (iii)

(C) (ii) and (iii)

(D) (i), (ii) and (iii)

The level of consciousness which is
considered as the reservoir of instinctive
or animal drives is -
(A) Unconscious
(B) Preconscious
(C) Conscious

(D) None of these

The kind of defence mechanism in which
anxiety provoking behaviours oF

thoughts are totally dismissed by the
unconscious is - r

(A) Denial

(B) Repression

(C) Projection

(D) Rationalisation
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First Language - English [$)
-

Direction (Q. No. 33 to 34) : Identify ¢
figure of speech In the given sentences, |

Direction (Q. No. 31) : In the question
below, a sentence has been given In Direct
speech. Out of the four alternatives

suggested, select the one which best

expresses the same sentence in Indirect (A) Simile
speech. (B) Oxymoron

(C) Personification
(D) Metaphor
34, "The murmurous haunt of flies on summer

33. 'Let not Ambition mock their usefy| tou

31. 1 said to my friend, "Can you pick me

up after work?"
eves"

(A) Simile
(B) Metaphor-

(C) Onomatopoeia

(A) I asked my friend if he can pick

me up after work.

(B) Iasked my friend if he could pick

me up after work. (D) Oxymoron

(C) I told my friend to pick me up
after work. 35. What are the productive skills of

(D) I told my friend if he could pick language? | A

him up after work. (A)

listening, speaking
(B) listening, reading
Direction (Q. No. 32) : Complete the (C) reading, writing
following sentence by selecting the appropriate (D) speaking, writing

modal auxiliary out of the given altematives,

36. Role play should be an integral part of
every language classroom because =

(A) it is very useful to maintain
silence in the classroom.

(B) it enables students to engage in

. meaningful talk,
It enables students to memorizé

32. Had our flights been on time, we

reached by now.

| —— —

(A) will have
(B) would have - ' (C)

(C) have the story.
(D) shall have (D) It enables girls and boys 0
Interact freely,
SET-C [12]
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37. Which one is the theory based on the

habit formation that says that human
or any creature gives response due to
stimulus or humans learn due to
stimulus?

(A) Classical conditioning

(B) Operant conditioning

(C) Stimulus conditioning

(D) None of these

38. The scientific study of articulation,
transmission and reception of speech
sounds is called -

(A) Linguistics

(B) Morphology
(C) Phonetics

(D) Syntax

39. According to the National Curriculum
Framework 2005, English in India is
in a multilingual country.

(A) aforeignlanguage

(B) aglobal language

(C) an associate language
(D) a first language

40. The linguist, Noam Chomsky maintains
that every child has an innate Language
Acquisition Device (LAD) that he/she
uses for -

(A) Semantics

(B) Phonetics

(C) Universal Gammar
(D) Complex words

XXI-1
Direction (Q. No. 41 to 45) : Read the

passage glven below and answer the
questions that follow by selecting the most

appropriate option.
It is difficult to reconcile the ideas of

different schools of thought on the question
of education. Some people maintain that
pupils at school should concentrate on a
narrow range of subjects which will benefit
them directly in their subsequent careers.
Others contend that they should study a wide

range of subjects so that they have not only
the specialised knowledge necessary for their
chosen careers but also a sound general
knowledge about the world they will have to
work and live in. Supporters of the first theory
state that the greatest contributions to
civilisations are made by those who are most
expert in their trade or profession, Those on
the other side say that unless they have a

_bruad general education, the experts will be

too narrow in their outlook to have sympathy
with their fellows or a proper sense of
responsibility towards humanity as a whole.

41. Broad general knowledge Is necessary

because -

(A) without it no one would get a job.

(B) It broadens one's outlook.

(C) It teaches us about different
things.

(D) specialisation Is complete without
It.
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42.

43.

'Schools of thought' can be explained as=
(A) groups of people who are schooled

to think.

(B) groups of people whose job is to
think.

(C) groups of people who study In 2
particular school thoughtfully.

(D) groups of people having the same
ideas but with different perception

on a particular subject.

Supporters of the first theory say that-

(A) experts have done nothing to
save mankind.

(B) experts have contributed most to
progress in the modern world.

(C) people with general knowledge are
more useful than experts.

(D) people with general knowledge
have contributed to civilisation,

The idea of the first school of thought

in the passage is that-
(A) students should concentrate on

studies.

(B) students should not undertake
any specialised work.

(C) students should study all the
subjects they want to.

(D) students should study a few
subjects that will help them in

their profession,

']

SET-C

[14]

45.

Direction (Q. No. 46 to 50) : Read the
poem given below and answer the

XXI._.-_‘
According to the second schog|
thought, education will not be """..
effective if pupils = |
(A) do not have a wide gener
education.
(B) have nothing but genera|
knowledge.
(C) have inadequate knowledge of
their own work. |
(D) ignore the study of fine arts.

questions that follow by selecting the mustl

appropriate option -

Half a league, half a league,
Half a league onward,

All in the valley of Death
Rode the six hundred.

"Forward, the Light Brigade!
Charge for the guns!" he said.
Into the valley of Death

Rode the six hundred.

"Forward, the Light Brigade!"
Was there a man dismay'd?
Not tho' the soldier knew
Some one had blunder'd.

Theirs not to make reply,
Theirs not to reason why,
Theirs but to do and die.
Into the valley of Death
Rode the six hundred.
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XXI1-1
Direction (Q. No. 51 ) 1 In the following ,

46. The expression 'the valley of death'
question one word, a numbered one, Is

refers to -
\VIRLIE PISCR WA e et a0 ners followed by four words. Choose the word that
are lying buried.
ls most nearly the same in meaning

(B) the impending death of soldlers.
(C) the house of death.
(D) a nightmarish place.

(synonym) of the numbered word.

47.  Which of the following adjectives does AL e

not apply to the soldiers? (A) Disguise
(A) courageous | (B) Uncover
(B) disciplined '
C) Demonstrate
(C) patriotic ©
(D) impractical (D) Fabric
48. Name the figure of speech used in 'the Direction (Q. No. 52) : In the following
Valley of Death'-
(A) Metaphor question one word, a numbered one, is
(B) Simile followed by four words. Choose the word that
(C) Synecdoche is most nearly opposite in meaning (Antonym)
(D) Metonymy
of the numbered word.
49. Which of the following statements is
not true? | 52. Conspicuous
jlit discipline teaches the
R T (A) Indifferent
soldiers - |
(A) to do and die. (B) Harmless
(B) to obey their commander's order. | (C) Insignificant
he b field.
(C) to act tactfully in the battlefie (D). Unknown
(D) not to ask any question. |

50. In the first stanza of the poem, the Direction (Q. No. 53) : Fill in the blank with
soldiers are - the help of suitable preposition.

(A) talking to each other about their
personal problems.

(B) Waiting for their commander’s 23. Man can not live bread alone.
e inking sbout thE fesiibof t N
Thinking about the resuit or the

5 i (B) with
war.

(D) seen riding fast to the enemy (C) by
territory. (D) at

PeT [15] P.T.O.
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Direction (Q. No. 54) : In the following
question, out of the four alternatives, choose
the one which can be best substituted for
the sentence below.

54. One who accepts pleasure and pain
equally .
(A) Thespian
(B) Sadist
(C) Humanitarian
(D) Stoic

Direction (Q. No. 55 to 56) : In each of the
following questions, groups of four words are
given. In each group, one word is correctly
spelt. Find the correctly spelt word.

55. (A) measureable
(B) manageable
(C) marriagable
(D) manoevrable

56. (A) impromptue

(B) illustrious
(C) illusery
(D) impetous

Direction (Q. No.57t0 58) :In each of the
following questions, four alternatives are
given for the idiom underlined in the
sentence. Choose the alternative which best
expresses the meaning of the idiom as your

answer.

57. Ram is very calculative and always has

(A) has no result
(B) works for both sides

(C) hasa private agenda
(D) fails to arouse interest

SET-C

[16]

58. The project is carried overto this y

and we need m_gggp_thﬂ_b.a.lelﬂng

(A) to continue the work
(B) more information
(C) to do better

(D) new strategies

Direction (Q. No. 59) : In the folluwin*g
question, a sentence has been given '"j!
Active voice. Out of the four alternatives

suggested, select the one which besﬁ
expresses the same sentence in Passiva

voice.

59. Who is singing such a sweet song?
(A) By whom is such a sweet song
sung? |
(B) By whom is such a sweet snnq
being sung?
(C) By whom is such a sweet song
sang?
(D) By whom has such a sweet son
sung? |
Direction (Q. No. 60) : In the followint
question, a sentence is given to be ﬁlledig
with an appropriate conjunction. Choose th
correct alternative out of the four. -l

I
60. Hardly had he left his bmmq:
came. "

(A) then
(B) than

(C) when

(D) that
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61.

62.

63.

foit avg & wfiraar @ A @< T
& DA B

(A) Fnf®
(B) %%
(C) 29T

(D) ¥ax

R MR TR &, W e ke
o dfcs § B 1 3EeR 87

(A) w9

(B) D

(C) THD

(D) Ulh Wbl

a1 @7 WAl 3 o & S 3R T 3
7T ST BTl &

(55 <% 66 A 70) & HaiHS 3fae IR

a faee @1 99 Bt

IR N 8 Pl IR HIE BT e T
a1 | Wt 3R H @1 W A
ik RER gg-aRad | R 21 9@l =
aHa $ e SaTeds adl & 39 Sar
& W X gell & a, €, 8 e WY
yo s P ds-dhr & s & W
T8 a3 Saara-t arg Aasiier
q e A & A AR H DR
SRHGIES @I TEUT XA & 3R JawieH
P AR e &1 gedt ) ERae &
it Ug-uie & €| TS 3 31T TS
@ gfdd & fore a9-war & sy s
forar 2 forrs SRoT WIplad e I
8 T ) yafarer § sifeilee @ &4 3R
DA STEHTIZE P! qQIRT aUT WGHoT &
PRV 3D YR D O dmikal b
@ & gl & & F TR IR,
v 3R yfy axor @ wwwn a1 @ W=
N

P.T.O.

F
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66. Pyt % ¥ # it e MY oD A . o e R 7 57 veg § 2
WA @ R? (A) o Reicy b
(A (B) TATEHUI
(B: $ (C) ¥ fasm
(C) Wy (D) TEATHD
Wy ok oty Freor e i
67. Yg-dt = wr & 2 wfaferdt & -
o, e SSarklyci
e (8) Bl @ ARl
(D) e (C) e 3id: HiaT
(D) 3IWIH |HI
68. UATGRUT I BT GURVITH TT &l &7
(A) TafaRor wguoT & Te urad il . & # AR-Hed 9 @ 8 -
&7 qG (A) Uit a1 gai @ 3ngha
(B) Ug-dteil B it & DR A, IFRE (8) far ¥ aftfa I 1o
(C) @ 3R yfiy arvr & TR e (C) =< o nfa, afg, #Am
il (D) WEFwY avf R
(D) Ui H BeT B T T YT
. Ty Rraor &1 g e @ -
69. ‘gdiaRUr ¥IE ¥ FgTd 0 & - (A) Feor ot &1 Rem
(A)- o (B) TEIH® orE &maT BT [Ho
(B) R (C) & uits @ o
(C) W4 (D) IRE T
(D) #
ore-fRraror o TR fafy @ -
70. wgpfa 3R 3 @ WY R v & - (A) Uefeitsn fafe
(A) TR TEHRRA R (B) IERUT Ry
(B) ﬂgwaﬂtﬂ'g’ﬂwmtﬁ ©) IR A &
(€) w99 IR WEH & FEY | ©) ¥l & B

" () A TE W

3 E_!E,{.\t
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76.

77.

78.

ﬁﬂmqﬁaﬂﬂgmatmt-
(A) B & aifds, T 3R TR

wiieal & ey &

(B) o # W 3R et B geERem
AT

(C) ol ¥ &= vy 3R wfeww & wfa
IRIT 309 BT

(D) IRIH |W

“HH= o1 AT Bl 5 aag @ PR -
(A) Hhard
(B) faezmd
(C) e
(D) Freaard

[19]

79.

80.

XXI-1
mmmur,ﬂgﬂ'\#mmm
w01 % HEe P AORA e ol Fege
ety s @ aEa AR FEET o B
e fafea @ o Rt B A @
3| P sR ot 0B TG & LA B
Rt 3 & A 39 g & Fraat
¥ qe -y o arady fig &
5 T yoR wmE R & W 376
areafe ddt # Frafuar 7€ @ gl
mgﬁasﬁamgnﬁmmua"ﬂ'aﬁéi
Tt @y F shifers amene s@ e
£ @Re aft T8 S| FH FOR al
e B v Hudb i o faer & e
IR Tae & TR Sl JHl aD
A & Fdd 6

IS WG & 3ged vd e & e
TE dd &

(A) HMNT dd

(B) aifecd dd

(C) feuR d@

(D) T A DI I

T BN TR ¥ AR B AN @ P
ARG @ 3y

(A) 3 ®eR &l 2

(B) aiftreafts & fore sawwm! 2l

(C) sfde-a At &

(D) Wi & W At B

p.f- Oi
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81.

82.

W Afden & aase g AT 3

Ry wiva @ o

(A) WOR W o gata fem e
S|

(B) dmae & el @ aia fadr
& sl

(C) wig Wit @ fooRaa fear sl

(D) U® Hud um & fawfya foar sl

HIST B ‘FE&AT IR’ T | 3 2

87.

89. ‘RkR

NGE |

(D) fe1 W

(A) FAR
(B) qUsdd

(C) TR
(D) YaYR

RUT’ 9T § B T THRT 22
(A) FTAHE FHH

(B) Y THN
(C) &< 99

ed' I | DI-9I Wi 87
(A) < fer
(B) T ifer
(C) 3oy Wit
(D) fa=mt wifer
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Direction (Q. No. 61 to 62) : Choose the
correct tense.

61. Rohan _ the movie before he
read the review,

(A) watches
(B) have watched

(C) had watched
(D) was watching

62. By the next month, we shall
the project.
(A) has completed-
(B) completing
(C) completed
(D) have completed

Direction (Q. No. 63 - 64) : Choose the
most suitable auxiliary or modal verb out of
the given alternatives.

63. In the Middle Ages, people

travel by plane.

(A) could

(B) had to

(C) can't

(D) couldn't
64. Kate isill, so she
| and drink a lot of water.

(A) need

(B) can't

(C) hasto

(D) doesn't have to

stay in bed

Direction (Q. No. 65) : Select the word
nearest in meaning to the underlined part.
65. The maid servant left the police

Second Language - English

XXI-1

Direction (Q. No. 66) : Select the optionin

which punctuation mark is appropriately used.
66. (A) Itis mentioned in the notice, all

of us should read it.
It is mentioned in the notice! all

(B) _
of us should read it.
(C) Itis mentioned in the notice? all

of us should read Iit.
(D) Itis mentioned in the notice; all

of us should read it.

Direction (Q. No. 67) : Complete the
following sentence using appropriate phrase
preposition from the given options.
67. How can they be going out? Jane has
nothing Peter.
(A) incommon
(B) incommon to
(C) in common of
(D) incommon with

68. Which of the following methods is based
on the principle 'From example to
generalisation'?

(A) Incidental Method
(B) Remedial Teaching Method
(C) Deductive Method
(D) Inductive Method

Direction (Q. No. 69 to 73) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option.

Stammering is a habit disorder linked
with lack of self-confidence. Basically for a
child to understand a language, there are
four stages. The first is learning to
understand the spoken language and the
second is speaking. Both of these usually
develop around the age of two.

The third stage is speaking complex

station Qi[’;::g‘ sentences, which develops at around 3rd and

(A) pen the fourth is when the child recognises the

(B) sore written alphabet. In 80% of children while

(C) angry the 3rd and 4th stages are at play, the first

(D) remorseless two get disturbed because something new is

SET"‘C [21] P-T.o.i
e — 0.
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getting incorporated in the mind.

This is absolutely normal. But what
Over-cautious mothers do Is fret a lot and
the child develops a fear which later
manifests itself as stammering. Infact, most
text books on stammering state in bold that
‘Had there not been any over-cautious
mothers, hardly anyone would have suffered
from stammering'. Fluency can be incorporated

in the speech of such patients through
hypnosis.

69. Stammering is caused because of -
(A) Physical disorder
(B) Hindered growth
(C) Lack of self-confidence
(D) Lack of understanding

70. The second stage of a child's
understanding the language is -
(A) Speaking
(B) Writing
(C) Listening
(D) Reading

71. are basically the reason for
developing a fear in the child's mind.
(A) Parents
(B) Over-cautious mothers
(C) Fathers
(D) Uncles

72. Fluency in such patients can be
incorporated in the speech of such
patients through -

(A) hypnosis
(B) slap

(C) punishment
(D) symbiosis

73. By thetime the child becomes 2 years
old he/she can -
(A) speak complex sentences,
(B) only understand spoken language,
(C) understand and speak simple
language.

(D) write the alphabets,

SET-C

X].

Direction (Q. No. 74 to 78) . Rejﬂ:
passage glven below and answe};
questions that follow by selecting thg .
appropriate answer. '
The last great war, which nearjy ¢ -

the foundations of the modern world, 3
little impact on Indian Literature pay
aggravating the popular revulsion again
violence and adding to the groyin
disillusionment with the "humane pretengjone
of the Western World. This was eloqueng,
voiced in Tagore’s later poems and his |ae
testament, Crisis in Civilisation. The Indias
Intelligentsia was in a state of moral dile _.
On the one hand, it could not help
sympathising with England’s dogged courage
in the hour of peril, with the Russians fighting
with their backs to the wall against the
ruthless Nazi hordes, and with China groaning
under the heel of Japanese militarism; 1
the other hand, their own country wz
practically under military occupation ofth!i
own soil, and an Indian army under Subhasi
Bose was trying from the opposite camp 8
liberate their country. No creative imp ‘
could issue from such confusion of Inyal;:
One would imagine that the achievementd
Indian Independence in 1947, which ca
In the wake of the Allies’ victory and W&
followed by the collapse of colonialisminth
neighbouring Countries of South-East

Was soon submerged in the great agony'
Partition, with its inhuman slaughter of
Innocents and the uprooting of millions
pPeople from their homeland followed bY
martyrdom of Mahatma Gandhi.
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74.  What was the impact of the last great

war on Indian Literature?

(A) It had no impact.

(B) It aggravated popular revulsion
against violence.

(C) It shook the foundations of
literature.,

(D) Itoffered eloquent support to the
western world.

75. What did Tagore articulate in his last
testament?

(A) Offered support to Subhas Bose.
Xposed the humane pretensions
(B) E dtheh
of the Western World.
(C) Expressed loyalty to England.
(D) Encouraged the liberation of
countries.

76. What was the stance of Indian
Intelligentsia during the period of great
war?

(A) Indifference to Russia's plight.

(B) They favoured Japanese militarism.

(C) They prompted creativity out of
confused loyalties.

(D) They expressed sympathy for
England’s dogged courage.

77. Find in the passage words that mean
(i) Disgust
(ii) Disappointment
(A) Upsurge, liberate
(B) Violence, aggravating
(C) Revulsion, Disillusionment
(D) Peril, Dogged

SET-C

78. Which

79.

80.

81,

XXI-1
of the following statements Is

true -
(A) Indian Army under the Nazis were

trying to liberate the country.
indian Army under Subhas Bose
was trying to liberate the country.

(B)

(C) Indian Army under the Russians
was trying to liberate the country.

(D) Indian Army under the Japanese
was trying to liberate the country.

According to language teaching experts
the early education of a child should
bein -

(A) The first language

(B) Second language

(C) Foreignlanguage

(D) Multi language

In continuous comprehensive

evaluation, the teacher tries to -

(A) Find out to what extent the leamning
objectives are achieved.

(B) Make the learner assess the
teacher.

(C) Identify the special needs of the
learners in a group.

(D) Make the learner by cramming
learning.

The alphabetic method, the phonic
method, the word method and the

sentence method are associated with-
(A) LUstening

(B) Speaking

(C) Reading

(D) Writing
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82. Effective learning takes place when the
learners are -

(A) Passive

(B) Quiet

(C) Interactive

(D) Good at preparing for the
examination

83. In order to assess the all-round
development of a learner, a teacher has
to take the help of -

(A) Unit-end evaluation

(B) Term-end evaluation

(C) Continuous and comprehensive
evaluation

(D) Month-end evaluation

Direction (Q. No. 84) : Rearrange the
following words and phrases to form a
meaningful sentence. Choose the correct
atternative sentence.

84. services will/tourism in/air taxi/the

state/ boost

(A) Tourism in the state services will
boost air taxi.

(B) Air taxi boost services will |
tourism in the state.

(C) Air taxi services will boost
tourism in the state. ‘

(D) Services will boost tourism in the

state air taxi.

Direction (Q. No. 85) : Choose the most I
suitable option that describes the meaning
of the following underlined idiom and phrase.

85. Theexam went down in flames, I should

have studied well.

(A) exam paper got burnt
(B) passed with goodmarks
(c) failed spectacularly

(D) exam hall caught fire

SET-C [24]

birection (Q. No. 86) : Inthe follgy,
sentence choose the antonym to ¢ i

underlined word.
86. She was determined not to ¢

her energles.
(A) Utilize

(B) Conserve
(C) Manage
(D) Organise

._Ll |

Direction (Q. No. 87) : In the follo g
sentence choose the synonym tot |

underlined word. f.
87. She requested him not to abandon her

au

(A) Try 1
(B) Join (
(C) Keepup i
(D) Forsake |

Direction (Q. No. 88 - 89) : Select '_
incorrectly spelt word from the following.
88. (A) Potassium
(B) Possibility i
(C) Parasology
(D) Preamble
|
|
\

89. (A) Pursue
(B) Persuit
(C) Persuade
(D) Peruse

Direction (Q. No. 90) : Select the €Ol
atternative which can be substituted for
sentence below. |
90. A person who talks in sleep is calleé®
(A) Philatelist
(B) Somnambulist
(C) Somniloquist
(D) Oneirocritic
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91. [T amapakqQfimax 12 #, Q
3R R feaw 15 R ¥ @ R 31k P e

20 A & e A W €, P 3
foom Rt & By T e

(A) 10

(B) 20

(C) 30

(D) 60

92. 40 et & e & 3ad 3id 86 &l
gfe 5 wdfow 3 ger & i, o sita
3B 1 B9 A an &1 warew 5 fafiai &
a3 3a Difsw -

(A) 92

(B) 96
i (C) 898
‘ (D) 97

93. WIfl® wR & T HeAUS & T q&

HHTT a1 87
(A) Prewremeia giRewr &1 3vE

94. Pr=fafaa ¥ ¥ o & fafyr =&, ¥
3y AT & Rzl R Ry &2

| | SET-C (34]

f iy
Mathematics

91. A work can be completed by Pandq

92.

83.

12 days, Qand R in 15 days &R an
in 20 days. In how many days P 3

can finish the work? i

(A) 10
(B) 20
(C) 30 |
(D) 60 '

The average marks obtained by 4
students of a class is 86. If the 5 highes
marks are removed, the averag

reduces by one mark. Find the averag
marks of top 5 students -

(A) 92

(B) 96

(C) 93

(D) 97

What is the major problem found |
primary level teacher of mathematics
(A) Lack of pedagogical training
(B) Lack of preparation

(C) Busyness in record maintenancé

(D) None of these

Which of the following method is base
on principles of "Watch, listen an
leam"?

(A) Laboratory Method

(B) Demonstration Method
(C) Lecture Method |

(D) Research Method
p.TA
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(A) 2
(B) 2a?
(C) 0
(D) 2a

96. UF famerq & 400 IW F ST qu afar
5 : 3 & IIE A &1 TR, I U B
5 : 6 H URAldd $ & fore et wr ofar
AR Freren anfge?
(A) 50
(B) 150
(C) 550
(D) 300

97. UP RE & 3 U R, TS A A 1 M
w R 13 & @ 21 9@ |, 396 3w
oI &, W@ o 1 3T W 1/2 & Fw 2
FeTER, 39 e & of qu & @ anea
fpan &7
(A) 10
(B) 18
(C) 7
(D) 16

08. UF PR U Fifaa am @ 48 f. /e
& 1y F 10 62 T @Y B 81 I
q;&a%ratitﬁaurﬁ#éifﬁumﬂﬂﬁl
¥ foae ofe & afee?

(A) 6 f. g

(B) 12 A M.

() 15 fsr./m.

(D) 60 feHr./m.
SET-C

95.

96.

97.

XXI-1

Zinc and Copper are in the ratio 5:3 in

400 gm. of an alloy. How much of

copper (in gms) should be added to make
the ratio 5:67

(A) 50

(B) 150

(C) 550

(D) 300

If 1 is subtracted to both the

- numerator and the denominator of a

fraction, it becomes 1/3. If 1 is added
to both the numerator and denominator
of that fraction, it becomes 1/2. Then

the sum of numerator and denominator
of that fraction is -

(A) 10
(B) 18
(C) 7
(D) 16

A car can finish a certain journey in 10
hours at speed of 48 km/h. In order to

cover the same distance in 8 hours,
the speed of the car must be increased
by -

(A) 6Km/h

(B) 12Km/h

(C) 15Km/h

(D) 60Km/h

P -T-O; ;

- ——— R —
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100.

101.

102,

Rk 2160=22x30x5¢, At 3x20x5 B
9= 8 - '

(A) 81/40

(B) 37/39

(C) 172

(D) 0

ot 7@ @ vy g 1681 N @Y
TEeT & A 3/ 7AW o wten WeR fose
aRE@ d @R

afc v R I a3k diEE HmEe:
10% 3iR 20% "Rl Fv 3R 39 Far
D 5% qGIIT S0 A 39 YBR ¥ & IR
& 3aaa A fba ufeea &1 aRad= am?
(A) 24.4%

(B) 24.6%

(C) 24%

(D) 24.2%

gfe & 5132416p, 3 ¥ fawrsa &, & p
¥ U W DH-91 IS A0

(A) 8

(B) 6
(C) 7
(D) 9 | 1

SET-C

99.

100.

101.

102.
~ then which digit will come in place

——

i
'... .-!."'-.: ;
i

[F 2160 = 2* X 3° X 55, then they,
of 3* x 2% x 5 will be - P
(A) 81/40

(B) 37/39

(C) 1/2

(D) 0

(el

If third Friday is on 16 of month the
what will be the date of fourth Tuesgds

of that month.?
(A) 27
(B) 29
(C) 20
(D) 22

If the length and breadth of a room |
decreased by 10% and 208
respectively, while height is inc ases
by 5%, then what percentage will b
changes in the volume of the room?
(A) 24.4%
(B) 24.6%
(C) 24%

(D) 24.2%

If number 5132416p is divisible bY

p?

(A).
(B)
(C)
(D)

O N O @
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(D) Rk

“.‘"' (A) 1
. B) 2
(C) 3
o) ‘neas

(A) 2uvg

RERAT iy SR 5¢us's Yo arivloy o7 oot || PR

v P W aus n
.104 maﬁ rd gi' 5518 2261 lsios

W 23 R

398 is divided by 5/

~ 104. When the number
|
l 3 'thel'l the remalndel' IS Sl
ﬂ‘.:l b'& .,t'l,* l
S e (3) | (A) 1
Taae (Q) . (B) 2
TRt AN L e CY 3
F D206 .'l'![_}l'l & GO0 ' 1L
(2 | (D) 4

105. e a2t & boet B e, 10 R & | 105. In how many hours, the number of
Pl den s waxgd - . 0 |

seconds is equal to the nurnber of

minutes in 10 days -

~ (B) 3w LR IR LR e | (A) 2 hours
s (B) 3 hours
) & b (C) 4 hours
(D) 5 hours
| o , -
1 7 6 .
106. 7z Pt . PRET S N e e A
————————————— ' ; ' s _—
L 3Ly iy | LA R [ 5T e
—______—- ' ) : 3
a\xmy$qﬁg_ | | I:henthevalueofxa dy??-:-{“ i T
RS 0y . (A) x=9y=3 -..‘
R, »=5iv=3 L A 8 T
L (B)i xmﬁgﬁ}hgmﬁw P
(B) x=3;y=9 25 \ :l. :
LT o} SO ! (C) xmﬁ *&H 'Fl:i‘”l.-r:::-t- e
(€) x=5;y=8 B s E ’1(911 _ Topy A
PR i t L‘l {7 (U =
P = - I 'I
A z H"

-
i} | |I|

R |
1||'||‘1|
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107.

108.

109.

110.

111.

(7+2V6) SrafE & -
(A) J6+1
B) J3+2
C) V2+45
D) 24+ 45

U U9 & Hga 64 J1.° &1 OF B P

TSI 8t 8N -
(A) 1232
(B) 24 >
(C) 48 Jut?
(D) 96 A2

TS DT Pregst 78 &1 o -
(A) U THag Bys

(B) s wwigarg P

(C) v fawmarg P

(D) UF TgY

dfa 3! arel Fad ag gof af e & -
(A) 99999 -

(B) 99976

(C) 99856

(D) 99764

3 1 4

21
(A) 7o

17
8 To

8
(O

12
® 1o

SET-C

.1 [5
’5 35‘{'@ 54 15]}@%

107.

108.

109.

110,

111.

KXI.
The square root of (7+ 276 is -
(A) J6+1 |

(B) V3+2 3
(D) 2+ Jg
The volume of a cube is 64 cm3,

total surface area of the cube wjj| '_
(A) 12 cm?
(B) 24 cm?
(C) 48 cm?
(D) 96 cm?

A right angled triangle cannot be -
(A) An equilateral triangle
(B) Anisosceles triangle
(C) A scalene triangle

(D) A polygon

The greatest five digit perfect squar
number is -
(A) 99999
(B) 99976
(C) 99856
(D) 99764

The value of-

1 (1. (5-(3: 1 4\
5= -|32l3:(3 ;2 .
5 ~|~2 {6 [5+10 15]}_ 1

(% Scanned with OKEN Scanner



132, 3 T 200 % 8 R s et 7 4
s ghitp

(A) 27
(B) 28
(C) 29
(D) 30

113. A AH. (3, 8) =4 3R A7. (a, 8) = 24
A,dl'a T AR -
(A) 14
(B) 8
(€)
(D)

10
12

114, 80 W. TN AT TP JOOR Udb & 3
AftrBan S Bl U6 TNBR el Bl HaH

g1 2| Qe & Hee BT ATGA & -

(A) 6400 H’

(B) 3200 HI®

(C)
(D)

1600 M2
12800 #I2

[39]

112. How

113.

114.

XXI-1
many natural numbers lie between
3 and 200 which aré divisible by 7 7
27
28

29
30

(A)
(B)
(C)
(D)

If HCF (a, 8) = 4 and LCM (a, 8) = 24,
then the value of 'a' is -

(A) 14

(B) 8

(C) 10

(D) 12

In a circular park of diameter 80m, there

is a square shaped playground of
maximum area. The area of the
playground is -
(A) 6400 m?
(B) 3200 m*
(C)
(D) 12800 m?

1600 m?

115. The method in which new rules are

established 5y examples is -
(A)
(B)
(C)
(D)

Deductive Method
Inductive Method
Analytical Method

Synthesis Method

P.T.O.

et ——
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116. o & waifte wT orar & -

11V,

118..

119,

120.

(A) st
(B) 3inioE
(C) Xwmforg
(D) Suifaw nforg

RIS wR W) TR &1 @ Hed £?

(A) TPplid
(B) ImifS®

(C) ufis
(D) #FfY®

BRET & AR - T wgEr B ador
&l" T8 SY= 1M & frw ey & wrafe
&7

(A) WPl Teg

(B) WIS o .

(C) I+ T Toa

(D) ¥™ & @Iy el

gie x:y = 1:2 8, @ (8x+9y) : (8x+2y)
&1 [ a1 e

(A) 22:29

(B) 29:22

(C) 13:6

(D) 6:13

f<it 30 . ﬁmamms_ﬂ.;ﬁ‘:si@
3 Rroemax 5 A9, Brsar aret et # oRafa
Gear Tl el & W& 59 D -

(A) 81
(B) 41
(c) 80
(D) 40

116. The oldest branch of

117.

118.

119,

120.

XX

|

(A) Algebra
(B) Arithmetic
(C) Geometry ‘|

(D) Astrology Math . |
n

What is the importance of Mathem
at Primary level? Y
(A) Cultural
(B) Social
(C) Religious
(D) Mental e

According to Hogben - "Mathemsz o
the mirror of Civilization."
statement corresponds to which va
of Mathematics ?

(A) Cultural Value

(B) Social Value

(C) Disciplinary Value

(D) None of these
|

If x:y = 1:2, then the value
(8x+9y) : (8x+2y) will be -

(A) 22:29

(B) 29:22

(C) 13:6

(D) 6:13

If a metallic cone of radius 30 € 1

height 45 cm is melted and
metallic spheres of radius 5 ¢
the number of spheres -
(A) 81

(B) 41

(C) 80 -
(D) 40

(E Scanned with OKEN Scanner



121. ¥I5H @M ¥ WU @iRes & B e 121, Disposable plastic plates which afét
o 55 R s &, 3 v @ T thrown away after eating food, should
T HE afke, iRy - not be used because -

122,

123.

124,

125.

S ¢4

(A) A & varf & o= 2t &
(B) ﬁmﬁﬁma&mmm

(A) T @t Ft @) Rafea s
(B) Bl & ford vy 3rva
(C) VHGIGRUT B &g@r &l
(D) e UG FgFT

qgfavor frer | afinmg & -

(A) ool w sfaRe d seax o
TG e

(B) UAIaRur &1 F9Iar ¥ 9 ST

(C) Tl &1 #ARaH &

(D) fonen & mmemw ¥ wafERor & gRd
2R ¥ Tl

AU & HITH HIHN & g6 GGIaxvl
FeT eI THY 39 T8 U € 5 T
G & SfT el & W@ &1 39 Fu1 HA?
(A) UG P JAad &H S fore g
gfe W smeiRa gea-wea amf

(B) WaRU1 B g el &l
(C) a3 @ deH # W & fee @

[41]

TG0 AEqT- XXI-1
Environmental Studies o,

122.

123.

124,

125.

(A) they are made of materials with
light weight.

(B) they are made of toxic materials.

(C)  they are made of biodegradable
materials.

(D) theyare made of non-biodegradable
materials.

The most rapidly dwindling natural
resource in the world is -

(A) water

(B) forests

(C) wind

(D) sunlight

The baslc objective of educational
excuration in EVS is -

(A) to develop the energy of children

(B) first hand experience to the
students

(C) to promote socialisation
(D) to promote team spirit

Meaning of environmental education is-

(A) to engage students with
burdensome schedule

(B) aware children about environment

(C) to entertain children

(D) to save environment from
pollution through education

After the lunch break, while teaching

EVS, you find that students are not

taking interest in the lesson. What would

you do?

(A) Use audio-visual aids based on
multiple intelligence to make the
lesson interesting.

(B) Change the topic immediately.

(C) Take the children out to play in
the ground.

(D) Askthem to put their heads down
on the desk and relax.

P.T.O.
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126.

127.

128.

AL IRA, B megeet ¥ ww
TS B T wefear sk we R
T &- |

(A)  Rwa & s wiwemi ) s
&= & forel

(B) fow 3Rk R % fre Ruarfrat &
HATW U IR & el

(C) T veme &) wde TRu
9™ IR & fore

(D) 3t W % spar wost & o

A & forel

ve Nes AT T B AW W B -
A A PO ITANN I T DY el 2l
farere @1 Hére sifimmr 78 2 -

(A) Tam & Ao faael & ar F fofg
B

(B) @l ¥ gl o fa@r awm)

(C) a=Al @ AYADYI, TAHAT 3R
HYIAROT B FHHEA &1

(D) T& ¥ & AD TwB B waelH
raford Bl

SET-C

[42]

126. Higher priority and space hag pe,

A ¢
L)
l.‘l

In NCERT textbooks on Evs l
(A) Explain basic concepts .
subject. J'
(B) Provide opportunities tg d
for contemplation and wc j%;
(C) Provide exact definitigyg
technical terms.
(D) Include large number of

questions.

127. Aanchal frequently asks probing g

128.

imaginative questions in her Class’ ;,
EVS. By doing so, she aims
improving-

(A) Observation skills

(B) Emotional Skills r'
(C) Thinking Skills |
(D) Speaking Skills |

A teacher asks every child to use s

== -
b ——

waste material from their homes a

make something useful out of it. _

The pedagogical intention of l

teacher is not to - ‘

(A) Judge the best student of

class. |
(B) Develop creativity among child
(C) Make children understand &
concept of recycle, reust'-'
reduce,
(D) Organize an exhibition of

articles made out of waste:

(E Scanned with OKEN Scanner



130.

3L

132.

133. T

134,

(D) ST

et § T st B 35 e B v
A 7, TiD -

(A) 3 P e So WET e 2
(B) U IFRHI ¥ 3uden & 3R T 2
(C) UE gafavor st 21

(D) UE TEFI Y 31T IS ol 2l

Tl IR 9B GRT DI 51 FHAl & -
(A) T & [dBE IRD
(B) oI B Fels

XXI-1

129. Largest Ecosystem of the world s -

130.

131.

132.

133.

134,

(A) Forest

(B) Grass Land
(C) Lake

(D) Ocean

First National Park of India is -

(A) Kanha

(B) Periyar

(C) Corbett

(D) Rajaji

In villages, people use wood as fuel

because -

(A) itisconsidered to bean ideal fuel.

(B) of its easy availability and low
cost.

(C) itis environment friendly.

(D) it catches fire easily.

Soil erosion can be prevented by -
(A) raising forests

(B) deforestation

(C) excessive use of ferfilizer

(D) overgrazing by animals

Ganga Action Plan (G.A.P.) was
launched in -
(A) in1986
(B) in1988
(C) in1990
(D) in1983

Intensity of radioactivity is measured
in -
(A) * Decibel
(B) Curie
(C) Hertz
(D) None of these
P.T.O.
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136. EFew ¥ g &

137. 1 3 3 B o v 7 7
(A) X - faoy |
(B) CO,, coiw '
(C) SPM &or

(D) SO,
138. @Y &9 g & fordy FoRerh oRa -

139. BN UF aIdE S9IH%, UH WRaR 390

Sifdd F81 Y& UKl 81 SHBT BROT & -
(A) TERT aeE

(B) U # yferd 3naisH @ JruRfy
(C) Ya®l drelrd

(D) IWIH A | D3 &l

140, ¥ 7 Wd # HeX a9 & @, I A §
fa=1 @1e &1 Jan RS 11§ B FRT 3qE

qre fbar, EHET PRI & -

135

136.

137.

140,

[44]

138.

| 139,

Mycorrhiza Is present in -

(A) Cycas &
(B) Rose :
(C) Pinus (Chir)

(D) Buransh

Effect of Tinnitus disease js -
(A) Persistent ringing sound jp s
(B) Low eye sight

(C) DrySkin
(D) Slow Heart Beat

Which of the following is/are net
pollutant?

(A) X-Ray

(B) CO,, COgas
(C) SPM particle
(D) SO, gas

Factor responsible for Little Ice Ageis
(A) Plantations

(B) Volcanic Dust
(C) Excessive Transport Vehicles
(D) Sound Pollutants

Raheem prepare a pond, fill waterﬂq
disperse fishes in it, but fishes are
alive in pond, Its reason is -
(A) Deep Pond

(B) Absence of dissolved oxvgeﬂf

water

(C) Cemented Pond
(D) None of above

Suresh produced much production
wheat without use of fertilizers in
field, where peas were cuitivi
earlier, Its reason is -

(A) Photosynthesis

(B) Transpiration

(C) Rhizobium Bacteria
(D) Respiratory Quotient

(% Scanned with OKEN Scanner



141, 01 & S & e e o e

o R ™ et ¥ W@ o @ .
Hifse -

A gwmmél

3. ! WO W I WepREl ga W
yreniRa Bk &l

@':

(A) 1742 el

(B) 17043 TU &l

(C) 2043 9™ &l

(D) 1,204 3T gl

142, 5= § } 3F-91 06 7l & e B e
THE dd €7
(A) UEfAaH
(B) el
(C) 3ifaita=
(D) et

143. 9Ra ¥ = 4 9 69 5OR &1 TR

144,

145.

[45]

XXI-1

141, Consider the fol lowing statements about

142.

143.

144,

145,

@)

the soil and select the correct answer

using the code given below -
1. Soll Is the basic medium for food

and timber.
Soil is an important resource.

2.
3. All communities and their cultures
depend on soil.

Code :

(A) 1and 2 are correct.
(B) 1and3are correct.
(C) 2and 3 are correct.
(D) 1,2and 3 are correct.

Which one of the following is the
dominant element of the Earth's crust?

(A) Aluminium
(B) Iron

(C) Oxygen
(D) Silicon

Which of the following types of Forests
covers the largest area in India?

(A) Tropical Wet Evergreen Forests
(B) Tropical Semi-Evergreen Forests
(C) Tropical Moist Deciduous forests
(D) Dry Tropical Forests

Which is the first stage in the process
of a species becoming irreversibly
extinct?

(A) Ecological extinction

(B) Mass extinction

(C) Local extinction

(D) Biological extinction

Which of the following statements is
true with regard to water on the global
scale?

(A) Therels not enough water available
per capita.

We cannot reuse water.

There Is a lot of water and yet
there Is scarcity.

The total amount of water in the

world s constantly decreasing in
quantity, '

(C)
(D)

PITml

_ .

¥
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146. Frfefas & ¥ wg-a s e 146, Which one of the following fuels cay;q,

QAR SREUT Jer @ & minimum environmental pollution?
(A) S5 - (A) Diesel
(B) raam (B) Coal
(C) &meH (C) Hydrogen
(D) A= (D) Kerosene
147. Fr=fefaa 4 ¥ dh-w TRRRE o 147. Which one of the following is an abiotje
It tUcd ﬁ- component of the ecosystem -
(A) dtey (A) Plants
(B) &b (B) Fungi
C©) &9 | (C) Humus |
(D) IR (D) Bacteria
148. {FT 31§ UV-faRolt § srcaftis gwifaa & 148. Excessive exposure of humans to
ST & 9 1 2 Tbar 27 | UV-rays resuits in -
() wferRen-dx & afy (i) damage toimmune system
(i) Bwar B afy (ii) damage to lungs
(i) G &1 $= (iif) skin cancer
(iv) 3™ & 3061 ‘ (iv) peptic ulcers
(A) (i) 3R (ii) - (A) (i) and (ii) |
(B) (ii) 3R (iv) s (B) (i) and (iv) .|
(© (i)3i (i | © wandgi
(D) (i) 3R (iv) (D) (iii) and (iv)
149, TERIZS WGEVT & Y | AHIldd &Rl 8- 149. Fluoride pollution mainly affects -
(A) @ (A) Teeth
(B) @<d (B) Heart
(C) fost (C) Kidney .
(D) D (D) Brain |
150. 3R 3 dToT9E @ FHUdaq yHfda B 150. The type of pollution which is likely t0
g 9guUT @1 HPR - aﬂ;ec‘? Taj Mahal in Agra to a greater
extent is -
.57 Ve (A) airpollution
P)- ETIINY (B) water pollution
€) L (C) soll pollution
ORI (D) noise pollution
SET-C (46]
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10.

11.

12.

13.

14,

mﬁmﬂauﬁﬁsmmﬁmuﬁ
Rreor s ¥ wafa €

. U9 H1 31 Q60 T & W Wt e i

T ST § wEkad g1 g W a0
WIS & We9 & W W & WU H 8 A gl
IRl RS U B TR TG W
& e & B

YeT AT 61 N 90 I & W W fgda-
= arran 3T SRMaT R SrrET I Y
TEed 81 399 ¥ $ad UD W B 0 &
aTeT fEdia & w0 & &1 ox 81 3l sides
U3 & IFFER TG fgdia W &y g
| &aF R S Iy 9 5 w9 W gahd
w91, feda wer & ®U § =@ o S

. U9 HE191 120 T & VI O | wEea

gl

weq §&T 121 ¥ 150 9P & WA gafaxor
g | g gl

G 3 y-gRad & Fide ®»F ® e
3 | gl

Y9 UA & &% ¥ 99g T 7 PR afe 5
g9 5 37T &) a 3 W9 | F|

3NOTHORO IR TFd BT AE Jal 3R 7 &
fo yoR ¥ fagpa &R

gA&m T B9 9 3N0PHOSR0 IR 7D
@ @81 e @1 3aed 4 <) il o
IR TAD DI DIE- Fid 04 JEH-gRasT 3
T A S @Y A 2

10.

11.

12.

13.

14,

xxI-1
Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

Question Nos. 31 to 60 are related to First
language - Hindi OR English. Candidate has
to select the questions of only one language as
the First language. Answer the questions of the
language which the candidate has selected as

First language in his/her application form.

Question Nos. 61 to 90 are related to Second
language - Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of only one
language which the candidate has selected as
Second language in his/her application form.
Be careful that the language selected as First

language cannot be taken as Second language.

Question Nos. 91 to 120 are related to
Mathematics.

Question Nos. 121 to 150 are related to

Environmental Studies.

Rough Work can be done in specified space of
the Question Booklet.

Do not waste time in solving the questions. If

you cannot answer a question, proceed to the
next one.

Do not fold or damage the OMR answer sheet
any way.

After examination submit your OMR answer
sheet to the invigilator. Candidates are allowed
to take away the carbon copy of OMR answer
sheet and Question Booklet.
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